

Stability and convergence of a modified Picard-Ishikawa hybrid iterative process

Manbhalang Chyne *

Naveen Kumar †

Department of Mathematics

University Institute of Sciences (UIS)

Chandigarh University

Mohali 140413

Punjab

India

Abstract

In this work, a variant of the Picard–Ishikawa hybrid scheme is introduced which is designed for approximation of fixed points for contractive mappings in Banach spaces. The corresponding iterative sequence is shown to be stable and to approach the fixed point more rapidly than a known Picard–S process. Furthermore, data dependence results associated with the process are obtained. These findings demonstrate that suitable modifications of existing hybrid iterations can significantly enhance convergence performance.

Subject Classification (2020): 47H09, 47H10.

Keywords: Modified iterative process, Convergence analysis, Stability, Data dependence, Picard–Ishikawa iterative process.

1. Introduction

Fixed point methods are crucial for the development of numerical schemes for nonlinear equations. Motivated by the classical Banach contraction principle (BCP), many authors have proposed different one-step and multi-step iterative constructions for locating fixed points of nonlinear mappings. In recent years, hybrid schemes like the Picard–Mann [1] and Picard–Ishikawa [2] processes have gained considerable attention.

* E-mail: mchyne2012@gmail.com (Corresponding Author)

† E-mail: imnaveenphd@gmail.com

These methods have been shown to exhibit superior convergence behavior compared to many classical schemes, particularly when analyzed in the framework introduced by Berinde [3]. Gursoy and Karakaya [4] demonstrated that the Picard–S iteration converges faster than several well-known iterative processes for contraction mappings. Motivated by these developments, we propose a modified Picard–Ishikawa hybrid iteration and investigate its convergence properties. The primary objectives of this paper are threefold. First, we establish the strong convergence result of the proposed scheme. Second, we prove stability and data dependency. Third, we prove its superiority, in term of convergence rate in Berinde’s sense, over the Picard–S iteration. In addition, data dependence results are also obtained for the scheme.

2. Preliminaries

Throughout this paper, we let $(X, \|\cdot\|)$ be a Banach space and $C \neq \emptyset$ a convex and closed subset of X .

A point $p \in C$ is a fixed-point of $T: C \rightarrow C$ if $Tp = p$.

Let $Fix(T) = \{p \in C \mid Tp = p\}$.

$T: C \rightarrow C$ is a contraction if $\exists \theta \in (0, 1)$ such that

$$\|Tx - Ty\| \leq \theta \|x - y\| \text{ for all } x, y \in C \quad (1)$$

We now recall some well-known iterative processes:

Picard iteration [5]

For a given initial point $p_1 \in C$, this iteration $\{p_n\}_{n=1}^{\infty}$ is defined by:

$$p_{n+1} = Tp_n \quad (2)$$

Mann iteration [6]

For a given initial point $p_1 \in C$, this iteration $\{p_n\}_{n=1}^{\infty}$ is defined by:

$$p_{n+1} = (1 - \alpha_n)p_n + \alpha_n Tp_n \quad (3)$$

where $\{\alpha_n\} \subset (0, 1)$.

Ishikawa iteration [7]

For a given initial point $p_1 \in C$, this iteration $\{p_n\}_{n=1}^{\infty}$ is defined by:

$$\begin{aligned} p_{n+1} &= (1 - \alpha_n)p_n + \alpha_n Tq_n \\ q_n &= (1 - \beta_n)p_n + \beta_n Tp_n \end{aligned} \quad (4)$$

where $\{\alpha_n\}, \{\beta_n\} \subset (0, 1)$.

Noor iteration [8]

For a given initial point $p_1 \in C$, this iteration $\{p_n\}_{n=1}^{\infty}$ is defined by:

$$\begin{aligned} p_{n+1} &= (1 - \alpha_n)p_n + \alpha_n Tq_n \\ q_n &= (1 - \beta_n)p_n + \beta_n Tr_n \\ r_n &= (1 - \gamma_n)p_n + \gamma_n Tp_n \end{aligned} \quad (5)$$

where $\{\alpha_n\}, \{\beta_n\}, \{\gamma_n\} \subset (0, 1)$.

For further reading see [9]-[14].

Definition 1: [3] Let $\{x_n\}_{n=1}^{\infty}$ and $\{y_n\}_{n=1}^{\infty}$ be two real sequences with $x_n \rightarrow x$ and $y_n \rightarrow y$. If $\lim_{n \rightarrow \infty} \frac{|x_n - x|}{|y_n - y|} = 0$, then $\{x_n\}_{n=1}^{\infty}$ converges faster to x than $\{y_n\}_{n=1}^{\infty}$ does to y .

Definition 2: [3] Let $\{x_n\}_{n=1}^{\infty}$ and $\{t_n\}_{n=1}^{\infty}$ be two iterative sequences such that $x_n \rightarrow p$, $t_n \rightarrow p$. Suppose $\|x_n - p\| \leq a_n$ & $\|t_n - p\| \leq b_n$ for all $n \in \mathbb{N}$, where $\{a_n\}_{n=1}^{\infty}$ and $\{b_n\}_{n=1}^{\infty}$ ($a_n > 0$, $b_n > 0$) are such that $a_n \rightarrow 0$, $b_n \rightarrow 0$. If $\{a_n\}_{n=1}^{\infty}$ converges faster than $\{b_n\}_{n=1}^{\infty}$, then $\{x_n\}_{n=1}^{\infty}$ converges faster than $\{t_n\}_{n=1}^{\infty}$ to p .

Picard-Mann hybrid iteration [1]

For a given initial point $p_1 \in C$, this iteration $\{p_n\}_{n=1}^{\infty}$ is defined by:

$$\begin{aligned} p_{n+1} &= Tp_n \\ q_n &= (1 - \alpha_n)p_n + \alpha_n Tp_n \end{aligned} \quad (6)$$

where $\{\alpha_n\} \subset (0, 1)$.

Picard-Ishikawa hybrid iteration [2]

For a given initial point $p_1 \in C$, this iteration $\{p_n\}_{n=1}^{\infty}$ is defined by:

$$\begin{aligned} p_{n+1} &= Tq_n \\ q_n &= (1 - \alpha_n)p_n + \alpha_n Tr_n \\ r_n &= (1 - \beta_n)p_n + \beta_n Tp_n \end{aligned} \quad (7)$$

where $\{\alpha_n\}, \{\beta_n\} \subset (0, 1)$.

Picard-S hybrid iteration [4]

For a given initial point $t_1 \in C$, this iteration $\{t_n\}_{n=1}^{\infty}$ is defined by:

$$\begin{aligned} t_{n+1} &= Tu_n \\ u_n &= (1 - \alpha_n)Tt_n + \alpha_n Tv_n \\ v_n &= (1 - \beta_n)t_n + \beta_n Tt_n \end{aligned} \quad (8)$$

where $\{\alpha_n\}, \{\beta_n\} \subset (0, 1)$.

We introduce a Modified Picard-Ishikawa scheme here: For a given initial point $x_1 \in C$, the Modified Picard-Ishikawa iteration $\{x_n\}_{n=1}^{\infty}$ is defined for $i \in \mathbb{N}$ by:

$$\begin{aligned} x_{n+1} &= T^i y_n \\ y_n &= (1 - \alpha_n)x_n + \alpha_n Tz_n \\ z_n &= (1 - \beta_n)x_n + \beta_n Tx_n \end{aligned} \quad (9)$$

where $\{\alpha_n\}, \{\beta_n\} \subset (0, 1)$, and T^i is the i^{th} iterate of T .

Lemma 1: Let the real sequences $\{a_n\}_{n=1}^{\infty}$ and $\{b_n\}_{n=1}^{\infty}$ ($a_n \geq 0, b_n \geq 0$) satisfy $a_{n+1} \leq (1 - \lambda_n)a_n + b_n$, where $\lambda_n \in (0, 1) \quad \forall n \in \mathbb{N}$, $\sum_{n=0}^{\infty} \lambda_n = \infty$ and $\frac{b_n}{\lambda_n} \rightarrow 0$ as $n \rightarrow \infty$. Then $\lim_{n \rightarrow \infty} a_n = 0$.

Lemma 2: Let $\{\xi_n\}_{n=1}^{\infty}$ ($\xi_n \geq 0$), be a sequence of reals. Suppose $\exists n_1 \in \mathbb{N}$, such that $\forall n \geq n_1$, the inequality $\xi_{n+1} \leq (1 - \zeta_n)\xi_n + \zeta_n \lambda_n$ is satisfied, where $\zeta_n \in (0, 1), \forall n \in \mathbb{N}$, $\sum_{n=1}^{\infty} \zeta_n = \infty$ and $\lambda_n \geq 0, \forall n \in \mathbb{N}$. Then

$$0 \leq \limsup_{n \rightarrow \infty} \xi_n \leq \limsup_{n \rightarrow \infty} \lambda_n \quad (10)$$

3. Convergence and Stability

Theorem 1: Let $T: C \rightarrow C$ satisfy (1). Suppose (9) generates the iterative sequence $\{x_n\}_{n=1}^{\infty}$, where $\{\alpha_n\}, \{\beta_n\} \subset (0, 1)$ with $\sum_{k=1}^{\infty} \alpha_k \beta_k = \infty$, then $\{x_n\}_{n=1}^{\infty}$ converges to a unique $p \in \text{Fix}(T)$.

Proof: By BCP, T has a unique $p \in \text{Fix}(T)$.

It remains to show that $x_n \rightarrow p$ as $n \rightarrow \infty$.

From the definition of z_n , y_n and x_{n+1} in (9), we obtain

$$\begin{aligned} \|z_n - p\| &= \|(1 - \beta_n)x_n + \beta_n Tx_n - p\| \\ &\leq (1 - \beta_n) \|x_n - p\| + \beta_n \|Tx_n - Tp\| \\ &\leq (1 - \beta_n) \|x_n - p\| + \beta_n \theta \|x_n - p\| \\ &= (1 - \beta_n(1 - \theta)) \|x_n - p\| \end{aligned} \tag{11}$$

$$\begin{aligned} \|y_n - p\| &= \|(1 - \alpha_n)x_n + \alpha_n Tz_n - p\| \\ &\leq (1 - \alpha_n) \|x_n - p\| + \alpha_n \|Tz_n - Tp\| \\ &\leq (1 - \alpha_n) \|x_n - p\| + \alpha_n \theta \|z_n - p\| \\ &= (1 - \alpha_n) \|x_n - p\| + \alpha_n \theta [(1 - \beta_n(1 - \theta)) \|x_n - p\|] \\ &\leq (1 - \alpha_n) \|x_n - p\| + \alpha_n (1 - \beta_n(1 - \theta)) \|x_n - p\| \\ &= [1 - \alpha_n \beta_n (1 - \theta)] \|x_n - p\| \end{aligned} \tag{12}$$

$$\begin{aligned} \|x_{n+1} - p\| &= \|T^i y_n - Tp\| \\ &= \|T(T^{i-1} y_n) - Tp\| \\ &\leq \theta \|T^{i-1} y_n - p\| \\ &= \theta \|T^{i-1} y_n - Tp\| \\ &\leq \theta^2 \|T^{i-2} y_n - p\| \\ &\dots \\ &\leq \theta^i \|y_n - p\| \\ &\leq \theta^i \{ [1 - \alpha_n \beta_n (1 - \theta)] \|x_n - p\| \} \\ &= \theta^i [1 - \alpha_n \beta_n (1 - \theta)] \|x_n - p\| \end{aligned} \tag{13}$$

Repeated application of the above process yields

$$\left. \begin{aligned} \|x_{n+1} - p\| &\leq \theta^i [1 - \alpha_n \beta_n (1 - \theta)] \|x_n - p\|, \\ \|x_n - p\| &\leq \theta^i [1 - \alpha_{n-1} \beta_{n-1} (1 - \theta)] \|x_{n-1} - p\|, \\ \|x_{n-1} - p\| &\leq \theta^i [1 - \alpha_{n-2} \beta_{n-2} (1 - \theta)] \|x_{n-2} - p\|, \\ &\vdots \\ \|x_2 - p\| &\leq \theta^i [1 - \alpha_1 \beta_1 (1 - \theta)] \|x_1 - p\| \end{aligned} \right\} \quad (14)$$

From (14) we get

$$\|x_{n+1} - p\| \leq \|x_1 - p\| \theta^{in} \prod_{k=1}^n [1 - \alpha_k \beta_k (1 - \theta)] \quad (15)$$

Since $\theta, \alpha_n, \beta_n \in (0, 1)$, we have

$$1 - \alpha_n \beta_n (1 - \theta) < 1 \quad (16)$$

We know that $\forall x \in (0, 1), 1 - x < e^{-x}$. Using these facts and (16) we get

$$\|x_{n+1} - p\| \leq \|x_1 - p\| \theta^{in} e^{-(1-\theta) \sum_{k=1}^n \alpha_k \beta_k} \quad (17)$$

Taking limit as $n \rightarrow \infty$ on both sides of (17), we get $\lim_{n \rightarrow \infty} \|x_n - p\| = 0$.

Therefore, $\{x_n\}_{n=1}^\infty$ converges uniquely to $p \in \text{Fix}(T)$.

Theorem 2: Let $T: C \rightarrow C$ satisfy (1). If (9) generates the iterative sequence

$\{x_n\}_{n=1}^\infty$, with $\{\alpha_n\}, \{\beta_n\} \subset (0, 1)$ satisfying $\sum_{k=1}^\infty \alpha_k \beta_k = \infty$, then (9) is T -stable.

Proof. Consider a sequence $\{t_n\}_{n=1}^\infty \subset C$. Let (9) generate the sequence $x_{n+1} = F_{T, x_n}$ which converge to a unique $x^* \in \text{Fix}(T)$ (using Theorem 1) and $\varepsilon_n = \|t_{n+1} - F_{T, x_n}\|$. We will show that

$$\lim_{n \rightarrow \infty} \varepsilon_n = 0 \iff \lim_{n \rightarrow \infty} t_n = x^*.$$

Assume that $\lim_{n \rightarrow \infty} \varepsilon_n = 0$. We have

$$\begin{aligned}
\|t_{n+1} - x^*\| &\leq \|t_{n+1} - F_{T,x_n}\| + \|F_{T,x_n} - x^*\| \\
&\leq \varepsilon_n + \theta^i(1 - \alpha_n\beta_n(1 - \theta))\|t_n - x^*\| \\
&\leq \varepsilon_n + (1 - \alpha_n\beta_n(1 - \theta))\|t_n - x^*\|
\end{aligned}$$

Now, $\theta \in (0, 1)$, $\alpha_n, \beta_n \in (0, 1) \ \forall \ n \in \mathbb{N}$ and $\lim_{n \rightarrow \infty} \varepsilon_n = 0$.

Using Lemma 1, we get $\lim_{n \rightarrow \infty} t_n = x^*$.

Conversely, assume that $\lim_{n \rightarrow \infty} t_n = x^*$.

$$\begin{aligned}
\varepsilon_n &= \|t_{n+1} - F_{T,x_n}\| \\
&\leq \|t_{n+1} - x^*\| + \|F_{T,x_n} - x^*\| \\
&\leq \|t_{n+1} - x^*\| + \theta^i(1 - \alpha_n\beta_n(1 - \theta))\|t_n - x^*\| \\
&\leq \|t_{n+1} - x^*\| + (1 - \alpha_n\beta_n(1 - \theta))\|t_n - x^*\|
\end{aligned}$$

This implies that $\lim_{n \rightarrow \infty} \varepsilon_n = 0$.

Hence the proof.

Theorem 3: Let $T: C \rightarrow C$ satisfy (1) with unique $p \in \text{Fix}(T)$. For $t_1 = x_1 \in C$, let (8) and (9) generate the sequences $\{t_n\}_{n=1}^\infty$ and $\{x_n\}_{n=1}^\infty$ respectively, with $\{\alpha_n\}, \{\beta_n\} \subset (0, 1)$ satisfying

(i) $\alpha \leq \alpha_n < 1$ and $\beta \leq \beta_n < 1$, for some $\alpha, \beta > 0$ and $\forall \ n \in \mathbb{N}$.

Then for $i > 2$, $\{x_n\}_{n=1}^\infty$ converges to p faster than $\{t_n\}_{n=1}^\infty$.

Proof: (15) gives

$$\|x_{n+1} - p\| \leq \|x_1 - p\| \theta^{in} \prod_{k=1}^n [1 - \alpha_k \beta_k (1 - \theta)] \quad (18)$$

Using assumption (i) to (18), we get

$$\|x_{n+1} - p\| \leq \theta^{in} [1 - \alpha\beta(1 - \theta)]^n \|x_1 - p\| \quad (19)$$

$$\text{Let } a_n = \theta^{in} [1 - \alpha\beta(1 - \theta)]^n \|x_1 - p\| \quad (20)$$

Using (8), we have

$$\begin{aligned}
\|v_n - p\| &= \|(1 - \beta_n)t_n + \beta_n Tt_n - (1 - \beta_n + \beta_n)p\| \\
&\leq (1 - \beta_n)\|t_n - p\| + \beta_n\|Tt_n - Tp\| \\
&\leq (1 - \beta_n)\|t_n - p\| + \beta_n\theta\|t_n - p\| \\
&\leq [1 - \beta_n(1 - \theta)]\|t_n - p\|
\end{aligned} \tag{21}$$

$$\begin{aligned}
\|u_n - p\| &= \|(1 - \alpha_n)Tt_n + \alpha_n Tv_n - p\| \\
&\leq (1 - \alpha_n)\|Tt_n - Tp\| + \alpha_n\|Tv_n - Tp\| \\
&\leq (1 - \alpha_n)\theta\|t_n - p\| + \alpha_n\theta\|v_n - p\| \\
&\leq (1 - \alpha_n)\theta\|t_n - p\| + \alpha_n\theta[1 - \beta_n(1 - \theta)]\|t_n - p\| \\
&= \theta[1 - \alpha_n\beta_n(1 - \theta)]\|t_n - p\|
\end{aligned} \tag{22}$$

$$\begin{aligned}
\|t_{n+1} - p\| &\leq \|Tu_n - Tp\| \\
&\leq \theta\|u_n - p\| \\
&\leq \theta^2[1 - \alpha_n\beta_n(1 - \theta)]\|t_n - p\|
\end{aligned} \tag{23}$$

Repeated application of the above process yields

$$\left. \begin{aligned}
\|t_{n+1} - p\| &\leq \theta^2[1 - \alpha_n\beta_n(1 - \theta)]\|t_n - p\|, \\
\|t_n - p\| &\leq \theta^2[1 - \alpha_{n-1}\beta_{n-1}(1 - \theta)]\|t_{n-1} - p\|, \\
\|t_{n-1} - p\| &\leq \theta^2[1 - \alpha_{n-2}\beta_{n-2}(1 - \theta)]\|t_{n-2} - p\|, \\
&\dots \\
\|t_2 - p\| &\leq \theta^2[1 - \alpha_1\beta_1(1 - \theta)]\|t_1 - p\|
\end{aligned} \right\} \tag{24}$$

From (24), we get

$$\|t_{n+1} - p\| \leq \|t_1 - p\| \theta^{2n} \prod_{k=1}^n [1 - \alpha_k\beta_k(1 - \theta)] \tag{25}$$

Using assumption (i) to (25) we obtain

$$\|t_{n+1} - p\| \leq \theta^{2n} [1 - \alpha\beta(1 - \theta)]^n \|t_1 - p\| \tag{26}$$

Let

$$b_n = \theta^{2n} [1 - \alpha\beta(1 - \theta)]^n \|t_1 - p\| \tag{27}$$

$$\begin{aligned}
\frac{a_n}{b_n} &= \frac{\theta^{in} [1 - \alpha\beta(1 - \theta)]^n \|x_1 - p\|}{\theta^{2n} [1 - \alpha\beta(1 - \theta)]^n \|t_1 - p\|} \\
&= \frac{\theta^{(i-2)n} \|x_1 - p\|}{\|t_1 - p\|} \\
&\rightarrow 0 \text{ as } n \rightarrow \infty \text{ (for } i > 2)
\end{aligned}$$

Hence, (9) is faster than (8).

Example 1: Let $C = [1, 7] \subseteq X = \mathbb{R}$ and $T: C \rightarrow C$ be defined in C by

$$Tx = \sqrt[3]{x+6} \quad \forall x \in C.$$

Choose $\alpha_n = \beta_n = \gamma_n = \frac{1}{2} \quad \forall n \in \mathbb{N}$ with $x_1 = 5$.

Evidently, T satisfies (1) and $Fix(T) = \{2\}$.

We compare the iterative process (9) for $i = 3, 4$ with the (6), (7) and (8). Numerical values obtained at successive iterations are presented in Table 1.

Table 1

Comparison of convergence of the Modified Picard-Ishikawa iteration against the Picard-S, Picard-Mann, and Picard-Ishikawa iterations.

Step	Modified Picard- Ishikawa (for $i = 4$)	Modified Picard- Ishikawa (for $i = 3$)	Picard-S	Picard-Mann	Picard- Ishikawa
1	5.00000000000	5.00000000000	5.00000000000	5.00000000000	5.00000000000
2	2.00007055197	2.00084665354	2.01448573161	2.12620158444	2.12259063800
3	2.00000000178	2.00000025603	2.00007749876	2.00567817894	2.00532360284
4	2.00000000000	2.00000000008	2.00000041485	2.00025626919	2.00023180111
5	2.00000000000	2.00000000000	2.00000000222	2.00001156763	2.00001009429
6	2.00000000000	2.00000000000	2.00000000001	2.00000052215	2.00000043958
7	2.00000000000	2.00000000000	2.00000000000	2.00000002357	2.00000001914
8	2.00000000000	2.00000000000	2.00000000000	2.00000000106	2.00000000083
9	2.00000000000	2.00000000000	2.00000000000	2.00000000004	2.00000000004
10	2.00000000000	2.00000000000	2.00000000000	2.00000000000	2.00000000000
11	2.00000000000	2.00000000000	2.00000000000	2.00000000000	2.00000000000
12	2.00000000000	2.00000000000	2.00000000000	2.00000000000	2.00000000000

From Table 1, it is evident that the modified Picard–Ishikawa iteration reaches point $p=2$ in less number of iterations as compared to the Picard–S, Picard–Mann and Picard–Ishikawa processes. This clearly supports the theoretical conclusion that the iterative process defined in (9) exhibits a faster convergence (6), (7), and (8).

4. Data Dependency

Theorem 4: Let $T:C \rightarrow C$ satisfy (1) with $\tilde{T}$ being its approximate operator. Let (9) generate the iterative sequence $\{x_n\}_{n=1}^{\infty}$ for T . We define $\{\tilde{x}_n\}_{n=1}^{\infty}$ as follows

$$\begin{aligned}\tilde{x}_{n+1} &= \tilde{T}^i \tilde{y}_n \\ \tilde{y}_n &= (1 - \alpha_n) \tilde{x}_n + \alpha_n \tilde{T} \tilde{z}_n \\ \tilde{z}_n &= (1 - \beta_n) \tilde{x}_n + \beta_n \tilde{T} \tilde{w}_n\end{aligned}\tag{28}$$

where $\alpha_n, \beta_n \in (0, 1)$ satisfying

$$(i) \quad \frac{1}{2} \leq \alpha_n (1 - \theta(1 - \beta_n(1 - \theta))) \quad \forall n \in \mathbb{N}$$

$$(ii) \quad \sum_{n=1}^{\infty} \alpha_n (1 - \theta(1 - \beta_n(1 - \theta))) = \infty$$

If $Tp = p$ and $\tilde{T}\tilde{p} = \tilde{p}$ be such that $\lim_{n \rightarrow \infty} \tilde{x}_n = \tilde{p}$, then $\|p - \tilde{p}\| \leq \frac{5\varepsilon}{1 - \theta}$, where $\varepsilon > 0$ is a fixed number.

Proof:

$$\begin{aligned}\|x_{n+1} - \tilde{x}_{n+1}\| &= \|T^i y_n - \tilde{T}^i \tilde{y}_n\| \\ &= \|T^i y_n - T^i \tilde{y}_n + T^i \tilde{y}_n - \tilde{T}^i \tilde{y}_n\| \\ &\leq \|T^i y_n - T^i \tilde{y}_n\| + \|T^i \tilde{y}_n - \tilde{T}^i \tilde{y}_n\| \\ &\leq \theta \|T^{i-1} y_n - T^{i-1} \tilde{y}_n\| + \frac{\varepsilon}{i} \\ &\leq \theta^2 \|T^{i-2} y_n - T^{i-2} \tilde{y}_n\| + \frac{2\varepsilon}{i} \\ &\dots \\ &\leq \theta^i \|y_n - \tilde{y}_n\| + \varepsilon\end{aligned}\tag{29}$$

$$\begin{aligned}
\|z_n - \tilde{z}_n\| &= \|(1 - \beta_n)x_n + \beta_n Tx_n - (1 - \beta_n)\tilde{x}_n - \beta_n \tilde{T}\tilde{x}_n\| \\
&\leq (1 - \beta_n)\|x_n - \tilde{x}_n\| + \beta_n\|Tx_n - \tilde{T}\tilde{x}_n\| \\
&\leq (1 - \beta_n)\|x_n - \tilde{x}_n\| + \beta_n\left\{\|Tx_n - T\tilde{x}_n\| + \|T\tilde{x}_n - \tilde{T}\tilde{x}_n\|\right\} \\
&\leq (1 - \beta_n)\|x_n - \tilde{x}_n\| + \beta_n\theta\|x_n - \tilde{x}_n\| + \beta_n\varepsilon \\
&= (1 - \beta_n(1 - \theta))\|x_n - \tilde{x}_n\| + \beta_n\varepsilon
\end{aligned} \tag{30}$$

$$\begin{aligned}
\|y_n - \tilde{y}_n\| &= \|(1 - \alpha_n)x_n + \alpha_n Tz_n - (1 - \alpha_n)\tilde{x}_n - \beta_n \tilde{T}\tilde{z}_n\| \\
&\leq (1 - \alpha_n)\|x_n - \tilde{x}_n\| + \alpha_n\|Tz_n - \tilde{T}\tilde{z}_n\| \\
&\leq (1 - \alpha_n)\|x_n - \tilde{x}_n\| + \alpha_n\left\{\|Tz_n - T\tilde{z}_n\| + \|T\tilde{z}_n - \tilde{T}\tilde{z}_n\|\right\} \\
&\leq (1 - \alpha_n)\|x_n - \tilde{x}_n\| + \alpha_n\theta\|z_n - \tilde{z}_n\| + \alpha_n\varepsilon \\
&\leq (1 - \alpha_n)\|x_n - \tilde{x}_n\| + \alpha_n\theta\{(1 - \beta_n(1 - \theta))\|x_n - \tilde{x}_n\| + \beta_n\varepsilon\} \\
&\quad + \alpha_n\varepsilon \\
&= [1 - \alpha_n(1 - \theta(1 - \beta_n(1 - \theta)))]\|x_n - \tilde{x}_n\| + \beta_n\varepsilon(1 + \beta_n\theta)
\end{aligned} \tag{31}$$

From (29) and (31), we have

$$\begin{aligned}
\|x_{n+1} - \tilde{x}_{n+1}\| &\leq \theta^i \left\{ [1 - \alpha_n(1 - \theta(1 - \beta_n(1 - \theta)))]\|x_n - \tilde{x}_n\| \right. \\
&\quad \left. + \alpha_n\varepsilon(1 + \beta_n\theta) \right\} + \varepsilon \\
&\leq [1 - \alpha_n(1 - \theta(1 - \beta_n(1 - \theta)))]\|x_n - \tilde{x}_n\| \\
&\quad + \alpha_n\theta^i\varepsilon(1 + \beta_n\theta) + \varepsilon \\
&= [1 - \alpha_n(1 - \theta(1 - \beta_n(1 - \theta)))]\|x_n - \tilde{x}_n\| \\
&\quad + \alpha_n\theta^i\varepsilon + \alpha_n\beta_n\theta^{i+1}\varepsilon + \varepsilon \\
&\leq [1 - \alpha_n(1 - \theta(1 - \beta_n(1 - \theta)))]\|x_n - \tilde{x}_n\| + \alpha_n\beta_n\varepsilon + 2\varepsilon
\end{aligned} \tag{32}$$

From assumption (i) we obtain

$$\begin{aligned}
\|x_{n+1} - \tilde{x}_{n+1}\| &\leq [1 - \alpha_n(1 - \theta(1 - \beta_n(1 - \theta)))]\|x_n - \tilde{x}_n\| \\
&\quad + \alpha_n\beta_n\varepsilon + 2(1 - \alpha_n\beta_n + \alpha_n\beta_n)\varepsilon \\
&\leq [1 - \alpha_n(1 - \theta(1 - \beta_n(1 - \theta)))]\|x_n - \tilde{x}_n\|
\end{aligned}$$

$$+ \alpha_n \beta_n (1 - \theta) \frac{5\varepsilon}{1 - \theta} \quad (33)$$

Let

$$\xi_n := \|x_n - \tilde{x}_n\|, \zeta_n := \alpha_n (1 - \theta (1 - \beta_n (1 - \theta))) \in (0, 1), \lambda_n := \frac{5\varepsilon}{1 - \theta}$$

Using Lemma 2, we get

$$0 \leq \limsup_{n \rightarrow \infty} \|x_n - \tilde{x}_n\| \leq \limsup_{n \rightarrow \infty} \frac{5\varepsilon}{1 - \theta} \quad (34)$$

Now, $\lim_{n \rightarrow \infty} x_n = p$, and by assumption, $\lim_{n \rightarrow \infty} \tilde{x}_n = \tilde{p}$. Therefore, we have

$$\|p - \tilde{p}\| \leq \frac{5\varepsilon}{1 - \theta}.$$

5. Conclusion

In this paper, a modified Picard–Ishikawa hybrid iterative process has been proposed and analyzed in detail, with convergence, stability and data dependence results being rigorously established for contraction mappings in Banach spaces. The theoretical analysis, supported by a numerical illustration, demonstrates that the proposed iteration is superior to Picard–S iteration in terms of convergence rate. The study highlights that appropriate modifications of existing iterative algorithms—particularly through the use of suitable iterates of contraction mappings—can lead to significant improvements in convergence performance. These findings suggest considerable scope for further investigation into accelerated fixed point iterative methods and their extensions to broader classes of nonlinear mappings.

References

- [1] S. H. Khan, “A Picard–Mann hybrid iterative process,” *Fixed Point Theory Appl.*, vol. 2013, Art. no. 69 (2013).
- [2] G. A. Okeke, “Convergence analysis of the Picard–Ishikawa hybrid iterative process with applications,” *Afr. Mat.*, vol. 30, no. 5, pp. 817–835 (2019).

- [3] V. Berinde, *Iterative Approximation of Fixed Points*. Springer, Berlin (2007).
- [4] F. Gursoy and V. Karakaya, "A Picard-S hybrid type iteration method for solving a differential equation with retarded argument," *arXiv preprint arXiv:1403.2546v2*, pp. 1–16 (2014).
- [5] E. Picard, "Mémoire sur la théorie des équations aux dérivées partielles et la méthode des approximations successives," *J. Math. Pures Appl.*, vol. 6, pp. 145–210 (1890).
- [6] W. R. Mann, "Mean value methods in iteration," *Proc. Amer. Math. Soc.*, vol. 4, pp. 506–510 (1953).
- [7] S. Ishikawa, "Fixed points by a new iteration method," *Proc. Amer. Math. Soc.*, vol. 44, pp. 147–150 (1974).
- [8] M. A. Noor, "New approximation schemes for general variational inequalities," *J. Math. Anal. Appl.*, vol. 251, no. 1, pp. 217–229 (2000).
- [9] M. Chyne and N. Kumar, Convergence analysis of Picard-Abbas hybrid iterative process, *Adv. Fixed Point Theory*, vol. 14, Art. no. 21 (2024).
- [10] M. Chyne and N. Kumar, "Convergence and stability analysis of a modified hybrid iterative process with some applications", *Adv. Fixed Point Theory*, vol. 15, Art. no. 46 (2025).
- [11] N. Kumar and S. S. Chauhan (Gonder), "Impact of interchange of coefficients on various fixed point iterative schemes," in *Advances in Intelligent Systems and Computing*, pp. 41–53 (2020).
- [12] S. Beniwal, N. Mani, and R. Shukla, "Convergence study of common fixed points for pair of mappings in partially ordered Banach spaces," *Adv. Fixed Point Theory*, vol. 15, Art. no. 15 (Apr. 2025).
- [13] S. H. Malih, "Fixed point theorems of modified Mann and Ishikawa iterations," *Journal of Interdisciplinary Mathematics*, vol. 24, no. 5, pp. 1093–1097 (2021).
- [14] M. O. Olatinwo, "Stability results for some fixed point iterative processes in convex metric spaces," *Int. J. Eng.*, vol. 9, pp. 103–106 (2011).

Received February, 2026